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PART - III
oo / CHEMISTRY

( 22IWogo, snoglad BOaxON®©@eMo / Malayalam & English Versions)

MO aldlWl 3 menslenid | [ @Ol @oda#s) : 150
Time Allowed : 3 Hours | [ Maximum Marks : 150

mldegwemd : (1) ealoajenseoqilon @oSlwyns MIeMMIaIQIono al@lerOUSdNd.
a)OMM&laljo  CaloEIWDHBIOMBH:IT a0 MVIa]dOO MO0
cllaueadldlleaid.

(2)  ag)wi®lomio @RSIAIE®ISIAIOMIo $06a]0 Mlalcwd dloemlalies

DadlD0 (@0 ©aleWOWlen)dh. ofl(@6BRD AUOPIAIOM  6alddayl®d
9 leIUIlH600.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

&0l :  @OUMEs quoeeBElc oal0all®o AUIORIBHI0, MANIIEYETBRD ag)LIBILHWI0

£21Q)6mMo.
Note : Draw diagrams and write equations wherever necessary.
3900 - I/ PART -1
®0laj: (i) agEIO ColRETBRHNI0 OO0 af)PI®d. 30x1=30

(i) EMICeNIM Mmoal’ SEMOEBEIT Wl aggaljo cwIKl el SO
SOOEMMSIOT  HODONU0 E0alaHMD EHIAWIO af)PIBds.
Note : (i) Answer all the questions.

(i) Choose the most suitable answer from the given four alternatives and write
the option code and corresponding answer.
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@06 MA@} 6306LIBHaUM (Oxocation) ®afle@leenM® oR® ?

(@) RIOMLOOEMUIIBUWD (b) EOKIOOHMAIHWD
()  emoendld wmoaumy (d) eo@eel eag@my
Oxocations are formed by :

(a) Lanthanides (b)  Actinides

(c) Noble gases (d) Alkali metals

ABMMOCUo MBETMBIMOR HaIBRIUIHNM MoWIHMo af® ?

(@) K80, Al, (SO,)54Al (OH), (b)  K,S0,°Al, (SO,)5-24Al (OH),
()  K,SO, Al (SO,)54H,0 (d) K,SO, Al (SO,),24H,0
Name the compound employed to arrest bleeding.

(@) K,S0,°Al, (SO,)54Al (OH), (b)  K,S0,°Al, (SO,)5-24Al (OH),4
() K80, Al, (SO,)54H,0 (d) K80, Al, (SO,),24H,0

®O6)¥® @MU aR® BHOOEMEBOLIOE E)BHICRIW @ B6MEBIMOQ GoldATY
@ladawo@d (Tyndall) (@1@00Uo EMBILEM® ?

(@)  (dBO0ETIeM @oUlloemo (b)  (BOETOMR (IdlaneiMo
() (dBovamla alloemoe (d) olodefledd avoomiavye

The Tyndall’s effect associated with colloidal particles is due to :

(a) absorption of light (b) reflection of light

(c) scattering of light (d) presence of charge

80y NaCl (&1guelad e (BeonEmias Na* @oewoemlaom angledndms og)(®
B0 @OEWIM eeNS ?

(@) 6 b 8 (c) 4 (d) 12
The number of chloride ions that surrounds the central Na* ion in NaCl crystal is :
(@) 6 b 8 () 4 (d) 12

®06)¢® ®MAUIRA@ e0MISOBMOE]BYLIND HEAOEWERM GenIomEloIlam qONMIlELNERE
o ?

(@) o - eemeESdaalemod (b) m - ©6OMEESIa[IEMIUD

() p - ©6OMEESIadlemowd (d) aolemowd

The intramolecular hydrogen bonding is present in :

(a) o-nitrophenol (b) m-nitrophenol

(c) p-nitrophenol (d) phenol
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80} angy 600Wad AlWOLHOHM andal H6rIal alldla) agyma) 10 aladly @RE3M,.
)BT @IOM BOR EH0MENME ag)® ?

(a) 6.93x10% min~1! (b) 0.693%x10~2 min~!

(c) 6.93x1072 min~1! (d) 69.3x107! min~1!

The half life period of a first order reaction is 10 minutes. Then its rate constant is :
(a) 6.93x10% min~1! (b) 0.693%x10~2 min~!

(c) 6.93%x1072 min~1! (d) 69.3x107! min~1!

C, H; OC, Hs, CH3—O—(|ZH—CH3 nal o6lo &Sl (alBdwlallanom

CH,
£04)BTVIOACIMo af® ?
(a) aDoUIauU6M®d (b) e:mgoeEQClMmo
()  ©aloaVland (d) e

The isomerism exhibited by C, H; OC, Hyand CH,~O—-CH-CH, is:
|

CH,

(a) functional (b) metamerism
(c) position (d) chain

ORA W(MEMBRIOS BOIMEBUW HMNBOIHHIMDIM oR® Mg BRIOAOHNISIHHSO6M
£ I18QIUTHME ?

(@) 3% alad ee10a0MVEs00, 0.1% Zr.

(b) 30% alad GRIDaOMVE:M0, 1% Zr.

(c) 30% dla¥ @eIa0MEOo, 0.1% Zr.

(d) 3% aled GeI0aOMVE:M0, 1% Zr.

Which Mg alloy is used in making parts of jet engines ?
(@) 3% Mish metal and 0.1% Zr.

(b) 30% Mish metal and 1% Zr.

(c) 30% Mish metal and 0.1% Zr.

(d) 3% Mish metal and 1% Zr.

8H0o|d Msanglom RelpoMQI@ @Paaldd &ysi@@d KCN @oldeenemlow
HBNBIBIM MOWIBMo @ ?

(a)  Cu, (CN), (b) K5 [Cu (CN)g]

(c) K[Cu (CN),] (d) Cu, (CN),+(CN),

Which compound is formed when excess of KCN is added to an aqueous solution of
copper sulphate ?

(a)  Cu, (CN), (b) K5 [Cu (CN)g]

(c) KI[Cu (CN),] (d) Cu, (CN),+(CN),
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10. ®26% aloWMAIQIG af® (e l@:laflenen) cainfletlo WO SOTTH® ?
(@) ©6alainerEIVaH
(b) eW@RWOS olaild-oemo
() alSl®H6H000 HalEIUloes HSIOEASSOBTIOM vByRLlE:06mMo
(d) gomlad agom EOAVAUIMY OaIEIUTl] @EE SVOHEISIME).
Which one of the following processes does not involve coagulation ?
(a) Peptisation
(b) Formation of delta
(c
(

)  Purification of drinking water using alum
d) Tanning of leather using tannin

11. ®26¥ aloMAIQIE ag)BeSoallwins AUBALMANMY B:OPMMIBEHE® af® ?
(a) eIlI@ Mlom alemIMI06® CUAGIBlEeIMEY
(b) oI @OMNBHME
(€)  aloengsnoe M ldMmOee ]S
(d) bl eroaldx@leanymay
Which of the following does not result in an increase in entropy ?
(a) crystallisation of sucrose from solution
(b)  rusting of iron
(c) conversion of ice to water
(d) vapourisation of camphor

12. N, +3H, = 2NHj; ag)om avamel@oaimun@fd, NH; ale@oaldl] e1oo 6mslw (ld@lg:
(@) @O OBGOU0 BxSIQ ®Oalijo @OIdlen e
(b) @O MBGAUP HIOTD ®OalCijo ERWIBIHN0
() ©WAM MBGAE HIOATH ®Oalljo BRGS0
(d) ewWdmM md3AUe HWAMM ®Iallo EOWImIH0
In the equilibrium N, +3H, = 2NH,, the maximum yield of NH; will be obtained with
the process having :
(a) low pressure and high temperature
(b) low pressure and low temperature
(c
(

) high pressure and low temperature
d) high pressure and high temperature

13.  @oomy@BlOM rldMMOeM@BIMY @ROICIYMOQ QUMY ag)Tn) ?

(@) - ©6a06WIE @M (b) «- @oalemd @il
() B - ©6a06(WOIE @M (d) B - @oalemd @il
The building block of proteins are :

(a) o -hydroxy acid (b) - amino acid

(c) B -hydroxy acid (d) B -amino acid
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14.  es00ulemanm® mmid 4 @O® MEIBENAIV MVEWIBDEBIM HEBOAOMEMO !

(@) K, [Fe (CN)(] (b) [Co (en),] Cl,

(c) [Fe (HyO)4] Cly (d) [Cu (NH;),] CI,

An example of a complex compound having coordination number 4 :
(a) K, [Fe (CN)4] (b) [Co (en);] Cl,

(c) [Fe (HyO)4] Cly (d) [Cu (NH;),] Cl,

15.  00anlemomy’ £6)a0s(Woellmilmy (al(@lE) ANlewWaOWI@ LIElENHM®) :
(a) 2 G@OGEMD (MIBHHOOUY
(b) 3 G@OBEMO MILHOEOUY
(€) 1 ©6WaIEHeHOW, 1 BROGEMI TVILHEONON

(d) 2 @@IEEMO MIBHNOHOW, 1 HOAWAVILEOOO
Raffinose on hydrolysis gives :

(@) two monosaccharides

(b) three monosaccharides

(c) one disaccharide and one monosaccharide

(

d) two monosaccharides and one disaccharide

16. a0RIIGMOIW @YEMA 210022 a® MVI@UOBY0 HAIGWIUIle] denslallslendo ?

(@) Z'=5-Z (b) Z'=Z+sS () z=Z"-5 d) z'=z-5S
Effective nuclear charge can be calculated by using the formula :
(@) Z'=S-Z (b) Z'=Z+S () Z=Z"-S (d) Z'=z-S

17. Conc. HNO; -0  Conc. H,SO, @omilemo@d  algal®alio @omao) :
(a) BOVEEMO EOMBISO BVMIGAVOUD
(b) IO OEMESI BOMIBMVIUD
() 0RO MQIo 0D HOMBSO BRMIGIVORD

(d) 62000 OOMESI @MIGIVIUWD

With a mixture of Conc. HNO; and Conc. H,50, Anisole gives :
(a) ortho nitro anisole

(b) para nitro anisole

(c) ortho and para nitro anisole

(

d) meta nitro anisole

[ 204a1)00 / Turn over
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18.

19.

20.

21.

22.

Zn/NH, Cl -0 &ajo ©6mMESdloalnmd aeaydsalaanemion &15me :

(a) CH;NH, (b) C,HsNH,
(c) CH; NHOH (d) C, H; COOH
When nitromethane is reduced with Zn/NH, CI, we get :
(a) CH;NH, (b) C,HsNH,
(c) CH; NHOH (d) €, H; COOH

ag)dlelldd e6gesnI8io, Pl -@io @ailess (eIl elld@mmeEmIcd eIEleanmae) :

CHI

(@) ICH,—CH,I () CH,=CH, () CH,=CHI (d) ICH=
The reaction of ethylene glycol with Pl; gives :
(@) ICH,—CH,I (b) CH,=CH, (¢ CH,=CHI (d) ICH=CHI

&ademmoallal (lRdlE6HIM SalE@OUIHEM MVo(EHREM MLIEHo aR® ?

(a) Cr (b) Ni () Zn (d) Cu
The transition element used for making calorimeters is :
(a) Cr (b) Ni (¢) Zn (d) Cu

eewalee®mEd eaVHs. nygleoald-6d@ ITUPAC Gald ag)a ?
(a) 2-@oalemo-3-adleend eniesead

(b) 2-(N-dleewnd @ralemo) a3

()  2-(N, N-eeoavdleend @oalemo) enyagei

(d) 2-(N, N-eowalesln@ @alemd) 6@ l06alQit

The IUPAC name of dimethyl sec. butylamine is :

(a) 2-amino-3-methyl butane

(b)  2-(N-methyl amino) butane

(¢)  2-(N, N-dimethyl amino) butane

(d) 2-(N, N-dimethyl amino) propane

(85610 2156m3&l@d milmyo Qy@ilalelleinm (BOCUE0 oR® ?

(@)  ©6AOGIBLHICIH: @OVl (b)  aqVRBanYdles @M
()  ®andBMOCIE: @Ml (d) @oMGElE: @Ml
The liquid that deviates from Trouton’s rule is :

(a) Hydrochloric acid (b)  Sulphuric acid

(c) Phosphoric acid (d) Acetic acid



23.

24.

25.

26.

27.

®06)% alOWIM MoWBMEMBEI@ B3:0¥21QEd MElAUINOVE @@ ?

(a) CH;CH, COOH () HOOC-CH,—-COOH
(c) CH; CH (OH) COOH (d) Cl, CHCOOH

Which of the following compounds is optically active ?

(a) CH;CH, COOH () HOOC-CH,—-COOH
(c) CH; CH (OH) COOH (d) Cl, CHCOOH

2H,0 ) +2Cly g = 4 HCl ) + Oy, 00 auampellmocicunia :

@) K=K (b)  K,>K (€) K, <K, d X, = KLC
ZHZO(g) +2C12(g) =4 HCl(g) +Oz(g) for this equilibrium :

(@) K,=K (b) K,>K, (€ Ky<K, d XK= KLC
sp? £6a0ENeeweIvaud @oeoaTldd cvmMiladl®ng).

(a) CO3” b) soi” (€ NOj3 d) NO;

sp? hybridisation is not present in ion.

(@) CO3 (b) sO3~ () NOj3 d) NO;

BaN0dO@AWINOHAOW GalOElMHHOM M@BLLM®)

(a) l00) BaNIBMOBIEBAONY (b)  aI0EIB WO
(c) Ganddmoef (d) @anoalles @Ml
Formaldehyde polymerises to give :

(a) paraformaldehyde (b) paraldehyde

(c) formalin (d) formic acid

efleoadlellss 68088000 HBIaOmEMO :

(a)  GRIANMBOTBEOS 6)BOCROWE LI
(b) eSO 688 MWDaNd

(c) @oMa]wd (28eloglad)

(d) Fe (OH); 6):06800QJ0

An example for lyophilic colloid is :

(@) colloidal solutions of metal

(b) sulphur in water

(c) gelatin

(d) Fe (OH); colloid

6685
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28.

29.

30.

£6a06(WIBHIOIH  @MIWIMio eMowWlwo &odenisemglmio swileas
@OMYDOIN@BTIN HIBIUINHNM (alBdwAlM] (indicator) :

(@) ©alog0MVe EaldMOCNEME
()  ©anemoDadmeflad
(€)  ©an8MOID eOWY

(d) desenmd edneml

For the titration between hydrochloric acid and sodium carbonate, the indicator used

(a) potassium permanganate
(b) phenolphthalein

(c) phenol red

(d) methyl orange

@Al (NIBHGIOS BOSIAOM VEOUMBIM B>006Mo0 :

(@)  ©S(S260E@ *RISM

(b) eemERM @ORETIOM MONTlaLo

() eemsRM BOAOBINAI EDRIGELIMIB:RIOS fd>GRIS]
(d) eemERM ERROWOM dWAM nIGHER;D emuglaldl
The basic character of amines is due to :

(a) tetrahedral structure

b) presence of nitrogen atom

(
(c) lone pair of electrons on nitrogen atom
(

d) high electronegativity of nitrogen

0 U myuglom’ myesoamem @ouwleemo eaigus@ie alarls ., xe'®?, 5™
ag)mla@oll allegdlonna|sidwie ©21QIMMy. OGI@ x agamOBIMy ?

(@) 2 MYGESOeMIEHMD (b) 3 MYGESOEMIEHMD

() - &demo (d) B - ®emo

92U235 nucleus absorbs a neutron and disintegrates into 5, Xel3?, 385r94 and x. What

will be the product x ?
(a) 2 neutrons (b) 3 neutrons

() «- particle (d) B - particle
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@oWo -II / PART - 11

&0laf: () ogem®mlele 15 GolOBYEIBRHE OO0 ag)LI®bs. 15x3=45
(i) SOMOMBUID BRMO MBENBI (LIRS BOWI@H6EMO

Note : (i) Answer any fifteen questions.
(i) Each answer should be in one or two sentences.

31.  eanimendsnidulen @omlvalm® milavdamo eIRoalosd:.
State Heisenberg’s uncertainty principle.

32.  ®odeniamlen @oewIele, 90dLRo GeNIDEOIMTONM @EEIEMIH: HDOBEREEDHIUD
B)SYOLIOEM. af)TEIB06NE ?
Ionisation energy of Carbon is more than that of Boron. Why ?

33.  gJoGenio equoaladmyl (Plumbo solvency) -0@ £G16.2J00) HG100 ]330,
Write a note on plumbo solvency.

34. H, P, O, -0 60RIG(E-IeM GALIZ TVUI®UOB)0 QLIOWIM:.
Draw the electron dot formula of H, P, O,.

35.  ag)amOEB06NBI6M B6M:0alBlLAGMM MYEIEEBWRD BRIOANTVE:00 HENBIHEM@ ?
Why do transition elements form alloys ?

36. GO0 GgygleElom (chrome plating) @Gl @GO LI®:.
Write short note on chrome plating.

37. @906 @M MMAD FloLHeMm Q Qldely &ensiallSloniss.
13A127+ 2H€4 i 14Si30+ 1H1+ Q
13A17 -6 @Nod®A allemuo 26.9815 amu @HIMY. 1,5i° -6@ 29.9738 amu,

2He4 -6 4.0026 amu @Qo 11—11 -6 1.0078 amu.

Calculate Q value of the following nuclear reaction.
13A127+ 2He4 — 14Si30+ 1H1+ Q
The exact mass of 13 Al1% is 26.9815 amu, 1 45130 is 29.9738 amu, 2He4 is 4.0026 amu

and 11—11 is 1.0078 amu.

38.  @0®I2I0RIG®WIOS oRO@IR0 3 [ IGQOWEIBUD ag)PIBD:.
Write any three applications of superconductors.

39.  ag)MeESoall ag)moeeIns ? @EIed GRRONED afe®Ejoo ?
What is entropy ? What are its units ?

[ 204a1)00 / Turn over
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40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

51.

10

eel anogelad (Le Chatelier) aulanotmo (e IR0 los)ds.
State Le Chatelier’s principle.

UYBAO anEY B0BG GlIBHMD ag)MOSEIND ? HBIAOMEMO af)PAMIH:.
What is a pseudo first order reaction ? Give an example.

@AM VA0 ) $IBND:>. BOIOR! CRISEHEBWD UdE]BDHEIH:.
Write the Arrhenius equation and explain the terms.

£ lalnOQETUM ag)MIBRINT ? HEIAOMEMO af)PIIH:.
What is peptisation ? Give an example.

£a0MEAYMEND MVACUOLYETNON 3 (aIOWOMIETBWD ) PIBIH:.
Write three significances of Henderson equation.

2g)MOMad1EOBRAMY, HOHAWIFYIGIEICAAM nC MoTIEN&s MY QLY@YONVETBUD
Qg) LIS

Write any three differences between enantiomers and diastereomers.

(NUNOBAW o IBlHHB@BTIMY BOBHHEAOIWD 630 LI0WE0 BRQS Hale@IUIleeiMg).

B00EMEDD) ?
Alcohols cannot be used as a solvent for Grignard reagent. Give reason.

6508 ll@ATIoM ©NIMEOTE BYBILHEAOIUD HENBIOLHMEDETEM ?
How will you prepare benzyl alcohol from toluene ?

BOOMMMENE GlAEHUM agMIBRINT ? 600 EOMMORETIEd BaSO, GaldsanmMaied
HBEUOND) ?

What is Rosenmund’s reduction ? What is the purpose of adding BaSO, in this
reaction ?

@0VRIOOAUIBMINT dleeLnQiEd MWWaHHMA AIEIEOHMEO@ETBOM ?
How is methyl cyanide obtained from acetamide ?

(Enfled mnoelaamal MoBERAHMOETD dldla] AaIlHe)®:.
Write about Gabriel phthalimide synthesis.

210emBges (dyes) ago®@sslelo 3 MVANGUIAUDEWD ag)PIIH:.
Give any three characteristics of dyes.
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@%Wo - III / PART - III

&)0laf 1 80600 AURONEBIGMIMY B:)06MMH@ MENE E2I0BYETRW ag)ssIelo GloeeTmS)ETS
ae®sleljo af¥ CoIOB)IRWDEE) HEHOODLIBS:. 7x5=35

Note : Answer any seven questions choosing at least two questions from each section.

afleomo - A / SECTION - A

52.  eaallend - Ldad alGleuemem® Bcla] Allaidleeds.

Describe the Davisson and Germer experiment.

53. @odzmdenny @lcl@aloT aags] CAGICN.SIEOIM® ag)smBem ?

How is silver extracted from Argentite ore ?

54. RIMMEOMA TVEIH02IMEBION BOMINOANLIETBUD ag)PIBID:.

Write the consequences of lanthanide contraction.

55.  @00IBMaHM 6)ag)BMoemciavo, BREWIATIE: 60g)ETVIEACITo af)MHICUOHW &BCla]
BOMBWOLIMIW HBIANBEMMVaSI®o AUBIEHE)H.

Explain coordination and ionisation isomerism with suitable examples.

afleomo - B/ SECTION - B

56. @D 9VdBRo, G -@ye)s (Free energy, G) MONEUad®mHWD ag)emejoo ?

What are the characteristics of free energy, G ?

57.  PCls -0} comalewogmadiea K, K. agmiaiew aflvede.dleee.

Derive the expressions for K, and K_ for decomposition of PCl;.

58. &0 00maog@Ewilen eodadlenn alEuoat®E:W@ af)emeloo?

What are the characteristics of order of a reaction ?

[ 204a1)00 / Turn over
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59. 0.01 M Cu?t ernoml 9@eE00881M 80) a0dal OAVM Cu(zaz)/Cu(s) -0
em.f. +0.301 V @0HmM}. af)sslad a00an evgfle guomeandal’ e.m.f. d-eMmoe)0d@6)w:.

The e.m.f. of the half cell Cu(za;) / Cu,) containing 0.01 M Cu?* solution is +0.301 V.

Calculate the standard e.m.f. of the half cell.

afleomo - C / SECTION - C

60. @VGOOMORlH: HVBD, @oLNandFlE: HVMD OO MATILRES aRO@ELIRI0 5 QLYEYOTVENZWRD
Qg) L IO

Give any five differences between aromatic and aliphatic ethers.

61. ®o6¥ ®MIAIHEIM dOTVMOFo ANCUGH6):.

1) oOMMIMD Cladd:Md (i) OB SlosHm
Write the following reactions :
(i) Clemmenson reduction (ii) Perkins reaction

62. HH0BseNIOILNL @OMIWL0, GOBHHCA0I80 ®MILREs ag)gROlanlEHeaH
(e ©BOS (IUBEDM @ ag)o) ?
Write the mechanism involved in the esterification of a carboxylic acid with alcohol.

63.  @MERYFIHMIOM aldl 21OIEOHR0QS B G160 |PIE .
Write short notes on anaesthetics.

@90 - IV / PART - IV

&0laf: () ©O6D 4 B2IOB)EIBRHE) HODMOO AG)PIBIE:. 4x10=40
(i) 70 -006@® GoI0E)EHIM MdNIMWAIWIe HEDMDo ag)PIBIQSS 6NI0HS) -
@88l oM egemssleljo AOMEROTIM SEDOODLIE)S:.

Note : (i) Answer four questions in all.
(i) Question number 70 is compulsory and answer any three from the remaining
questions.

64. (a) @oeosMley @O0 MldgPEILMEIMEs caloglend dlal AlvElealee)ss.
(b) @oocM-006Al Bl@laY] AoIAN@MIMM ©® YUY UI®E:O @D CAUD®I®]-

HOIM@IOM B3Gla] ANl H6)ds.
(a) Explain Pauling method to determine ionic radii.
(b)  Describe how noble gases are isolated from air by Ramsay-Raleigh method.



65.

66.

67.

68.

13 6685

QORI @6r106nE MlALOMMO Oaleoudla] [Ni(CN),]?~ Awomdunglses) ag)omio,
[Ni(NH;),J?* a1000000mgles) agimyo @&l eeiss.
BOMIBWO B0 GAEIENS AlQIG]H6)6.

Using Valence Bond theory prove that [Ni(CN),]?>~ is diamagnetic, whereas
[Ni(NH,),]?* is paramagnetic.

Explain Radiocarbon dating.

gomdlexd oo QlaIdlEed..

afl1HOH@ @MW EMIBalatMD, OBHAlHHE @AW EMIdalatd (B8]
@USBUB0aY6MoO, MO @OUIIGUBDAHUEMO) EDCL MOTIERES QLYBYOTVEIBERMT) ?

Describe the nature of glass.

What are the differences between physical adsorption and chemical adsorption.

S0 AUIER eewelasmd mlavdmo AllGlEe ..

£VE WMo ag)PImM@Imes IUPAC osmis] (@lqQoallaeids.
Explain Ostwald’s dilution law.

Mention the IUPAC conventions for writing cell diagram.

EONVBLHINAOLRBEMIWD-OM BROBYBIOW H3012] AlKElE:@loe:. BOIQIOS
ndlo®me® alglio QIOEIOMIED:.

Qg)FTBEMQIOEN IO alOWIM aldlemomo TlaIdETEenea|SIM® ?
(i)  avoellmilelle; @emiluy — @l
(i) moelmilels:; @il — dleend aoelmileaqy

(i) Gandal®s @DV — GaNdAMIOERNY

Describe the conformations of cyclohexanol. Comment on their stability.
How are the following conversions carried out ?

(@)  Salicylic acid — aspirin

(i) Salicylic acid — methyl salicylate

(iii) Formic acid — formamide

[ 204a1)00 / Turn over
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69.

70.

14

(@000, Beflw, Bl @RAIMEW ag)eEElomM@IeN OOMISTY ERIVIAIMOQS
@OR@TIM QANEMIBYMN® ?

QIBHHOMIOM CRISMOW &Gl ANAIGIEe):.
How do primary, secondary and tertiary amines react with nitrous acid ?

Elucidate the structure of glucose.

BmOEldx)eI0d Ganddmiel C, Hy O 988 60} 662201 Mo@do (A) MyS@ 6ancle:
E0000WIe BRI E2I0)EMIoNd AIweIg Mfloo @EIM. Moismo (A)  CHCl,
NaOH  ag)mmilai@mo@fl enioadflaxeleaiemiodd (B), (C) ag)im 2 6ag)emoaoidhdd
®OIOM). MoBMo (A), B0} BR@HNOLIND AlEOTIG Wwemodleanmaowf
BoldHBMUIR o®md (D) ®moyMy. (A), (B), (C), (D) ag)0mlad £:66n3@mbs.
(@ (1 UB@DHMETBUWD ALl00E|B:@1H6) 1.

Mo@HMo (A) ag)M@® B0 - 2l)0la] (@IERG BRG], EBISOO® BTN
80} B0glOOAWIENS a@®RMlo @M. MoBMo (A), HAIOZOM0 BHIOHNOW]O,
B06NMMMBSHA MVWBany@les BRI @RS (@Id@Blaleamemiot dlomes
&0) UO®B:0 (B) ©6Mm808540My. KOH, (A) -@md@] (aIcd@Semuowd (C) ag)om merovm
mloemlengs el ecleenimy. (A), (B), (C) agamlal £Heensmmyd:.
(IUBEDMEMBUD NGB H6))b.

@106 L) 851D

300&ldy1e10d Ganddmyel C, Hy N 988 80 Mo@ysmo (B), SnCl, , HCI
DAIEWINSa]o VIO elWlafleniemiod C, Hy O ag)m ea0glsnyielod
Ga000DIRIVIRR HHRAI MoWBMo (A) @RI MaI0MMOOR]SIM]. MoHmo (A)
3S08MMVIONNG alBlEHBHEO HIOWIM]. B0 @yasl GHIedmmaesgu) H,SO,
Mo@)dmo (A) -@Ed BaIBHEMUIOWD, CaldglnnennEIVatM) Allewwmonl 6o}
oMgld Mowismo (C) ®ayMy. (A), (B), (C) ag)mmIal &66nsmmyds.
(IUBEDMEBRD A0oE|B:@E6)0bs.

AT, Soi_ g)MIUO® AUBOOQWIHho EMAa{lHNEMIOD ©EMBIHMM
@OBWIMIB: (al(Lda00 WLND@-ao 189 ohm ~1 cm? gm.equiv. 1160 ohm 1 cm?
gm.equiv. ! @Qd@)MY. of)BI@ MOMB® BJ06MD @M@ DRI,
eeRIQMIOM Gao8d (IAIda00, EDBYAIRIM eI B6MENIDE)H:.
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An organic compound (A) of molecular formula C; H, O, gives violet colour with
neutral ferric chloride. Compound (A) when refluxed with CHCI; and NaOH
gives two isomers (B) and (C). Compound (A) when added to diazomethane in
alkaline medium gives an ether (D). Identify (A), (B), (C) and (D). Explain the
reactions.

Compound (A) is an orange red crystal and also a powerful oxidising agent.
Compound (A) when treated with potassium chloride and concentrated sulphuric
acid evolves coloured gas (B). When KOH reacts with (A) an yellow solution of
(C) is obtained. Identify (A), (B) and (C). Explain the reactions.

OR

An organic compound (A) of molecular formula C, H, O is prepared by the
reduction of compound (B) of molecular formula C, H; N dissolved in ether, with
SnCl, and HCl. Compound (A) reduces Tollen’s reagent. When a drop of conc.
H, SO, is added to compound (A), it polymerises to give a cyclic compound (C).
Identify (A), (B) and (C). Explain the reactions.

Tonic conductance at infinite dilution of AI®t and SOi_ are 189 ohm 1 cm?

gm.equiv.” ! and 160 ohm~! cm? gm.equiv.~ L. Calculate equivalent and molar
conductance of the electrolytes at infinite dilution.
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